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Trigonometric Rations and

Trigonometric Identities

1. Multiple Choice Question (MCQ) Maximum

value of cos @ is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cbOgJVxsDHEC

B.O

C.1

D. none of these.

Answer:

o Watch Video Solution

2. If rcosf =23 rsinf=2  and

0° < 0 < 90°, then the value of r and 8 are



https://dl.doubtnut.com/l/_cbOgJVxsDHEC
https://dl.doubtnut.com/l/_IdpJpwuSFFnx

A.(2,60°)
B.(4,30°)
C.(4,60°)

D.(2,30"@)"

Answer:

o Watch Video Solution

sin@ + cos 6
3.1f — — 7, then the value of tan®
sin@ — cos 6



https://dl.doubtnut.com/l/_IdpJpwuSFFnx
https://dl.doubtnut.com/l/_4PY0MzqE5Rdu

A —

V3
B./3

C.4/3
2
D. —.
V3

Answer:

o Watch Video Solution

4. If secH + tanf = 2, then the value of

secl — tanfis


https://dl.doubtnut.com/l/_4PY0MzqE5Rdu
https://dl.doubtnut.com/l/_8xn8Q41N34Sl

A.1/2

B.1

C.-1

D. none of these.

Answer:

o Watch Video Solution

5.1f £ = mcoseca and y = ncot a, then the

2yt
value of — — — Is
m n


https://dl.doubtnut.com/l/_8xn8Q41N34Sl
https://dl.doubtnut.com/l/_yzZVvXa73bJV

B.O

C.1

D. 2

Answer:

° Watch Video Solution

13
6.1f sec’ 6 + tan’ 0 = EDk then sec* 6 =

A.144/576


https://dl.doubtnut.com/l/_yzZVvXa73bJV
https://dl.doubtnut.com/l/_oOF7QQ4iyHFd

B. 169/576

C. 576/625

D. 625/576.

Answer:

o Watch Video Solution

2
7. If 2z = secf and ;:tan& then


https://dl.doubtnut.com/l/_oOF7QQ4iyHFd
https://dl.doubtnut.com/l/_D1rcCAkoN3U3

B.1/2

C.1/8

D. 1/16.

Answer:

o Watch Video Solution

8.sec’ § = 43:# is true if and only if
T +yY

Aa<b

B.a > b


https://dl.doubtnut.com/l/_D1rcCAkoN3U3
https://dl.doubtnut.com/l/_aNZsCA6rjkiH

Answer:

° Watch Video Solution

9. Maximum value of sinf + cos 8 is

A.O

B.1


https://dl.doubtnut.com/l/_aNZsCA6rjkiH
https://dl.doubtnut.com/l/_6y4CBwu6V4K8

D. 2

Answer:

o Watch Video Solution

10. If cos@ + sec = 2, then the value of

cos2M17 9 1+ sec?8 9 s

A. 4035
B.2

C. 2017


https://dl.doubtnut.com/l/_6y4CBwu6V4K8
https://dl.doubtnut.com/l/_zshZLiDthyCv

D. 2018

Answer:

o Watch Video Solution

0
M If tan(% — 5) = /3, the value of cos 6

IS

A .0


https://dl.doubtnut.com/l/_zshZLiDthyCv
https://dl.doubtnut.com/l/_NpinzQzeKAX5

D. 1

Answer:

o Watch Video Solution

LT 5 1
12. If 251n(—) — x° + — =, then the value
2 72
( 1) !
of le — —]is
T
A. -1
B. 2

C.1


https://dl.doubtnut.com/l/_NpinzQzeKAX5
https://dl.doubtnut.com/l/_2C9Eq7dHMcB1

D.O

Answer:

o Watch Video Solution

13. If A = sin?0 + cos*0 then for all real

values of 0


https://dl.doubtnut.com/l/_2C9Eq7dHMcB1
https://dl.doubtnut.com/l/_29t3QcRha6dS

Answer:

o Watch Video Solution

14.1f cos0 = 2% — z + T the value of x will

be

A.O

B.1


https://dl.doubtnut.com/l/_29t3QcRha6dS
https://dl.doubtnut.com/l/_0XLv4pVRV60C

D. none of these.

Answer:

o Watch Video Solution

15.In A ABC, ZB =90° and AB: BC=2:1.

The value of sin A 4+ cot C'is___

A3+ /5

. 2+ /5
-

C.2+ /5



https://dl.doubtnut.com/l/_0XLv4pVRV60C
https://dl.doubtnut.com/l/_Ruz1rKKyzRjf

D. 3sgetd

Answer:

o Watch Video Solution

16. If cos @ + sin@ = /2 cos 6, then

cosf —sinfis__

A +/2tan6
B.O

C. —+/2sinf


https://dl.doubtnut.com/l/_Ruz1rKKyzRjf
https://dl.doubtnut.com/l/_dpfJ8SfbPsE0

D.+/2sin6

Answer:

o Watch Video Solution

2
17. If cos* @ — sin* 6 = 3 then the value of

(1 —2sin’6) is__

A.4/3
B.O

C.2/3


https://dl.doubtnut.com/l/_dpfJ8SfbPsE0
https://dl.doubtnut.com/l/_zHkRPHp6t96E

D.1/3

Answer:

o Watch Video Solution

COS (& Sin &
= a and

= b, then th
cos 3 sin 3 =n e

18. If

value of sin” 3 interms of a and b s
2
P S
a2 — b2
CL2 . b2
CL2 + b2
a’ —1
a2 — b2


https://dl.doubtnut.com/l/_zHkRPHp6t96E
https://dl.doubtnut.com/l/_pBR5Ofw9jQS5

a? —1

D, ——
a? + b2

Answer:

o Watch Video Solution

19.If 8 is an acute angle and tan 6 + cot 8 = 2,
then the value of tan' 6 + cot* 9is

Al

B.2

C.3


https://dl.doubtnut.com/l/_pBR5Ofw9jQS5
https://dl.doubtnut.com/l/_Vmv5JgkQyDfS

D.4

Answer:

o Watch Video Solution

20. If

2tan? 30°
1 — tan?30°

, then the value of x is__

+ sec?45° — sec’0° = zsec60°

A.O

B.1


https://dl.doubtnut.com/l/_Vmv5JgkQyDfS
https://dl.doubtnut.com/l/_aO9y2MuAy3Wd

D. 2

Answer:

° Watch Video Solution

21. Which one of the following is true for

0° <6 <90°?

A. cos < cos’ @

B.cos @ > cos’ 6


https://dl.doubtnut.com/l/_aO9y2MuAy3Wd
https://dl.doubtnut.com/l/_VAkJJYofMSe9

C.cos 6 < cos’ 6

D. cos 6 > cos> 6

Answer:

° Watch Video Solution

2

22. If cos? a — sin® @ = tan? B, then the value

of (cos2 B — sin? [3) is

A. (:ot2 Q

B. cot?


https://dl.doubtnut.com/l/_VAkJJYofMSe9
https://dl.doubtnut.com/l/_n6xGGNKTE83P

C.tan’ o

D.tan’ 3

Answer:

° Watch Video Solution

sec — 1
=7

secOd +1

23. For any values of \/

A. cot @ — cos ect
B.secl — tan#f

C.cos ecl — cot 6


https://dl.doubtnut.com/l/_n6xGGNKTE83P
https://dl.doubtnut.com/l/_2MUPYeXSMBJN

D.tanf — sec6

Answer:

o Watch Video Solution

24. If 0° < A <90°, then the value of

tan’ A 4 cot’ A — sec® Acosec’A is

B.O

C.1


https://dl.doubtnut.com/l/_2MUPYeXSMBJN
https://dl.doubtnut.com/l/_aX1BumdHytLM

D. 2

Answer:

o Watch Video Solution

25 Th | c 2sin® 0 — sin 6 , I
. The vlaue o is equa
cos @ — 2cos3 6 a

to

A.sin@

B.cos 6

C.tan@


https://dl.doubtnut.com/l/_aX1BumdHytLM
https://dl.doubtnut.com/l/_dqT65nBexZcX

D. cot 0

Answer:

o Watch Video Solution

V3
26. If rsinf = ; and rcosf = T\/_ then
valueofris
A 4
B.3

C.5


https://dl.doubtnut.com/l/_dqT65nBexZcX
https://dl.doubtnut.com/l/_vmOn4HiyQIJA

D.7

Answer:

o Watch Video Solution

11 1
27. If 0+ 0 = > and sinf = 5 then the

value of sinf) is__

Al

1
B. —
V2

C.1/2


https://dl.doubtnut.com/l/_vmOn4HiyQIJA
https://dl.doubtnut.com/l/_9ha0V7bEl6rQ

V3
D. =5~

Answer:

o Watch Video Solution

28. If acosf + bsinf = p and
asinf — bcosfd = q, then the relation

between a,b,p and q is

Aal—b=p — ¢

B.a? + b = p* + ¢*



https://dl.doubtnut.com/l/_9ha0V7bEl6rQ
https://dl.doubtnut.com/l/_KkylzOjh0uVa

Ca+b=p*+¢

D.a+b=p+q

Answer:

° Watch Video Solution

20, If 0 = 60°, then
1 . 1 indi
Eﬁ + sin + 5\/I —sinfisequal to___
cot(6)
A. 9
sec(6O
N (6)



https://dl.doubtnut.com/l/_KkylzOjh0uVa
https://dl.doubtnut.com/l/_L18Q0GVtQtzL

sin(6)

cos(6)

Answer:

° Watch Video Solution

A+ B
30. sinA + cos B = 2 then tan( —; )
equals
A. X

B.1


https://dl.doubtnut.com/l/_L18Q0GVtQtzL
https://dl.doubtnut.com/l/_l51t8DsU9xq2

Answer:

° Watch Video Solution

31. If cos*0 4 cos’0 = 1 then the value of

(tan4 6 + tan® 9) is equal

A.O


https://dl.doubtnut.com/l/_l51t8DsU9xq2
https://dl.doubtnut.com/l/_eMEKKNpuahPy

C.1

D. cannot be determined

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eMEKKNpuahPy

